Abstract Statement of Election Expenses Part-I

Name of Candidate	: Agant Kumar Snyt
Number and name of Constituency	: Anant Kumar Snyt : 178 Molkama
Name of State / Union Territory	: Brhar
Nature of Election Date of declaration of result Name and Address of the Election Agent	: By-Election/General Election : 24/11/2010 : Jalehwar Sharma Barty
	rt-II
 Were you a candidate set up by a Political II. If yes, name of the party. III. Is the Party a recognised Political Party. IV. If recognised political party, whether National V. Has your party incurred/authorised expenses. VI. Has any other association/body of personal incurred/authorised expenses in your electric visional party. VII. If yes, give its/his/their name(s) and common visional party. 	: Tonfa Dal unite ? : Yes/No Itional / State Party : National/State Party enses in your election ? : Yes/No ons/individual ection ? : Yes/No

Abstract Statement of Expenditure on Election by the Candidate/his Election Agent

	Item of Expenditure		Expenditure	Incurred/author	Table
		Candidate /his Election Agent	Political Party which set him up	Any other Association/Body of Persons/ Individual	Total Expenses incurred/ Authorized (Total of Columns 2, 3 & 4)
	1	2	3		
		Rs.		4	5
١.	Public meetings, processions, etc.	1.0.	Rs.	Rs.	Rs.
	ge. processions, etc.	17325			17325 h
	Campaign materials, like, handbills, posters, video and audio cassettes, loudspeakers etc.	20650			20650/
.	Campaign through electronic/print media (in- cluding cable network)				
		×	*	× ×	~

4.	Vehicles used and POL expenditure on such vehicles	1,710461	_	. –	1:7/046/
5.	Erection of gates, arches, cutouts, banners, etc.	19500		_	19500
6.	Visits of 'leaders' to the constituency (other than the expenditure on the travel of 'Leaders' as defined in Explanation 2 under Section 77 (1) for propagating programme of the party.	* * * * * * * * * * * * * * * * * * * *	×	×	~
7.	Visit of other party functionaries	×	У.	×	+
8.	Expenses on Campaign workers	X	~	×	~
9.	Other misc. Expenses	175458	,		

Lump-sum grant received, if any, from -

1.	Political Party	
2.	Any other association/body (with its name and address)	
3.	Any individual (with name and address)	

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association/organization/body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations I and 2 under Section 77 (I).

Regn. No. of Vehicle	Type of Vehicle			Rate for hiring	, a bea	No. of Days	Total Amount incurred	Break-up of t	otal expenditu	re of column 6
		Vehicle Permit No. issued by RO	Rate for hiring of vehicle / maintenance	Fuel charges (if not covered under hiring)	Driver's charges/ batta (if not covered under hiring)	which used	·	Amount spent by the Candidate/ Election Agent	Amount spent by the Political Party	Amount spent by any other association/ body of persons/ individual
1	2	3	4a	4b	4c	5	6	7	8	9
BRIAP 3236	Jeep.	2087	\$00×19 =15400 K	160 X 396°	= 3800	19 Ray	2 19 36/	Elechmagnit		
BRIAP 3236 JHOIF 5613 BROIPA 9052	Scarpio	2062 2000 populo 12/10/16	Nigi vehicle of condidate	140×39.60 = 5544	200X19 = 3800	100ay	9344/			
BR018A 9052	Scarpio.	2063	1200 X 21 =25 200/,*	140 × 39.66 = 5544	200 × 2/ = 4200	210ay	34.994/	11		
8		2569/3110 Jar 111110 24/11/18	# 1 made							

		1+.						•		
WB387 6177	Pajero	2061	1300X 20	120×3960 =4752	200 X20 = 4000	20 Days	34792/	· 11		
BR9 A 9529	Mine Truck	2562 10000 31 10 10000 100 100 100 20 10 100	600 X 11	110×39.60 = 4356	200 X 11 = 2200	11 Day	13156人	11		
JH6BC 7334	tota Spacio	2327 22/10/10 10 order	800X7	35X396° = 1386	200x7 =1400	7 Derys	8386/	. 11		
BRIAP 2948	Jeep	m 24/10/10		35×39.6° = 1386	200×7 = 1406	7- Dary	6986/	Λ		-
BROIPA 3499	Bolero	tj	800X7 = 5600	35×39.6° = 1386	200 X 7 = 1400	7 Day	8386/	/1	-	

Grand total of Column 6: Rs. 137530

Note:

ote:

1. Copy of the order containing list of all vehicles for which permit issued by Returning Officer to be enclosed.

2. All vehicles used for Public Meetings/Rallies/Processions shall also be included in the above table.

3. If the vehicles owned by the candidate/his relative/agent are used for election purpose, notional cost of nire of all such vehicles except one used by the candidate for his personal use shall be included in total amount of expenditure in the above table.

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of expenditure on all vehicles used in connection with the election including the vehicles supplied to candidate by his Political Party or any other association/organization/body or by any other individual are required to be shown. The only exception is the expense incurred in connection with travel of 'leaders' of political party for propagating programme of political party covered by Explanations I and 2 under Section 77 (I).

Regn. No. of Vehicle	Type of Vehicle			Rate for hiring		No. of Days for	Total Amount incurred	Break-up of t	otal expenditu	re of column 6
		Vehicle Permit No. issued by RO	Rate for hiring of vehicle / maintenance	Fuel charges (if not covered under hiring)	Driver's charges/ batta (if not covered under hiring)	which used	·	Amount spent by the Candidate/ Election Agent	Amount spent by the Political Party	Amount spent by any other association/ body of persons/ individual
1	2	3	4a	4b	4c	5	BF-137536		8	9
BR14A 0207		2356 23/19/10 arder Received on 24/10/10		70X3266 = 2772	200 X 7 =1400	7 Day	8372/	teetm agent		
BR16A 3003	Mini Truck	h	600 X 7 = 4200.	70×39.66 = 2772	200×7	7098	8372	//		
a 0	9		į.							

100				1 1	1 1		I	1		
			. '							
JH01AE 6822	Bolero	/1	80X7 = 5600	35 × 39:60 = 1386	200 X7 =1400	ZDays	8386/	1).		
BR01PA 6827	Belero	11	800 X 7 = 5600	35×396° = 1386		Fony	8386/ total	171046	-	
				8						
	220									

Grand total of Column 6 : Rs.	1,71046/	
Ordina total of Columnit of Tio.	1///	

Note:

- 1. Copy of the order containing list of all vehicles for which permit issued by Returning Officer to be enclosed.
- 2. All vehicles used for Public Meetings/Rallies/Processions shall also be included in the above table.
- 3. If the vehicles owned by the candidate/his relative/agent are used for election purpose, notional cost of nire of all such vehicles except one used by the candidate for his personal use shall be included in total amount of expenditure in the above table.

DETAILS OF EXPENDITURE ON PUBLIC MEETINGS/RALLIES

(Each Public meeting/Rally/Procession held by the candidate/his election agent/his political party/and other association/organization/body/any other individual on behalf of the candidate should be mentioned in this format)

Total Number of public meetings/rallies/processions-

Total expenditure: Rs.

	1.	2.	3.		4.			5.	6.	7.
	Date of Public	Address of Venue	Name of Authority from whom permission obtained	Expenditure on Pub	Expenditure on Public Meetings/Rallies/Processions					Amount incurred
29/	meeting/ Rally	Name of the Star Campaigner /Outside Dignitary (If Any) Reference No. and Da		Description	Qty.	Rate per unit	Total Amount	candidate / Election Agent	Party and name of the Party	sociation/ body / Individaual and names of such persons
2	0/10/10	Sni Nitish Kumar at ghoshwan	2470/27/10/10	Erecting Pandal & Fixtures						
2	0110110	at Barbi	2469/23/10/10	Arches & Barricading	×	<				
30	0/10/10	at Mokama	2494/29/10/0	Clash Hiring furniture	150	3	450	electr		_
				Hiring Loudspeakers & Microphones	6 Set 12 Hom	450	3300	H		
				Posters	76	40	240	11 .		
) (F) (F) (F) (F) (F) (F) (F) (F) (F) (F		Banners				, -		
			1	Cut-outs				•		

D:\Mantu/Form-5

* = =		Digital Board					*
3 8		Ilumination items like Serial Lights, etc.					
		Power connection charges paid/payable to EB etc.				-	
	-	Rent for venue					
		Other Miscellaneous Expenses	_		13335		
		Total		_	17325		

PART - VI

DETAILS OF EXPENDITURE ON TRAVEL OF LEADER(S) OF THE PARTY NOMINATED IN TERMS OF EXPLANATION (2) UNDER SECTION 77(I) OF THE REPRESENTATION OF THE PEOPLE ACT. 1951.

		ARF	RIVAL DE	TAILS	DETAILS	OF STAY	DEPAR	RTURE DE	ETAILS	Whether expenditure	Expendi- re ture if any
S. NO.	Name of Leader	Date of Arrival in constitu- ency	Mode of travel	Expenditure on fare paid (if known)	Duration of halt in constitu- ency	Expendi- ture on local journeys	Date of departure from constitu- ency	Mode of travel	Expendi- ture on fare paid (if known)	on item (5), (7) and (10) incured by candidate, political	on item (5), (7) and (10) by candidate.
1	2	3	4	5	6	7	8	9	10	11	12
1	Sillifigh Kuma	29/10/10 9.30 AM	Hele coper		30 मिनर	×	10.20 Am	Iteli copto	- ×	_	716030
2_	11	25/10/10 10.30 Am	"		30 HAZ	×	8m	/1	*	_	
3.	11	30/10/10		,	60 9472	×	12 pm	1	×	-	
	, * *	11.00 Am	11							(ac	
		**		le v			-				
		ar .					a ^t				
	2										

Etc		Total Expenditure : 16030										
	Etc			5 E 2								
	-											
					#1 #2 #2 #2 #2 #2 #2 #2 #2 #2 #2 #2 #2 #2							
		,	•		*							

PLACE :

DATE